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1.

.

A 52 yeaf 61d man with- history of
coronary artery disease is cun‘ently on
sublingual mtroglycenn 0-5 mg, SOS

metoprolol 50 mg twice a day, aspirin

- 75 mg once a day, enalapril 5 mg

once a day, for the last one year. The

_patlent is now complaining of breath-

lessness and wheeze. Which one of the

following drugs is most likely to be

1mphcated for thls new symptom ? .

(a) Enalapnl |

(b) Meﬁaprolol

C (@ Nltroglycenn ‘

'(d) Asplnn

. A patient with is_chae’mic heart disease -
- on regular follow-up has a resting heart. - -

rate of 90 beats/ minute. The patient is

takmg metoprolol 50 mg twice a day.

' _Whlch one of the followmg drugs

may be added to -his presctiption if

 he also has signs of heart’ failure ?

(a) Ranelazine

- (b). Diclofenac
| (ci Prednisolone

3.

(d) Ivabradmc o

An 18 yw old boy got frost blte of
left feet after working in a snowy field
for 5-6 hours. He complained of pain,
numbness and limited moment of his
toes. The skin’ appeared white "and

waxy. Which one’ of the following is

contradlcted as lm‘tlal treatment ?

ing by mmerslon of feet '

(c) Cleamng of mjured area w1th soap

(d Use of analgesna and stenle
| dressmg AR

Which of the followmg antl—cpagulant
agents can be administet by oral,_
route ? ' Ry

- .1.1:Rivércxaban

2. Fondaparinux - B

3. Apixaban

4. Dabigatran

o~

Select the correct answer usmg the

code glven below :

(2) 1and 3 only
(®) 1,2and 4

©) 1,3 and 4

@ 2,3and4 -

Which of the following drugs miay be
associated with leg swelling? -

L Calcium 'chanx_xel blockers R

2 NSA]Ds :
'3 Glucocortlcmds
4, Mmeralocortlcmds

- Select the correct answer usmg the B
'code given. below

'(a) 1and20nly
.‘(b) 2, 3and4only

(c) 3 and4on1y g

@ l,2,1and4 Lt e



~ 6. Which of the following produce loud

S1 on cardiac auscultation ? -
- 1. Ansemia
 2. Pregnancy

3. T’hyrofoxicbsis

4. Mitral regurgltatlon

Select the correct answer usmg the
code given below :

@ 1,24nd 3
®) 1,2and4
() 1,3and 4
(d) 2 and 3 only

. Which of the followin’é are correct

about Ivabradine ?

1. Itmaybeofusemsevereheart
falhn'e :

2. It acts on SA node
3. It reduces heart rate
4. Tt is effective in atrial fibrillation

Select the correct answer using the
code given below :

(@ 1,2and3

(®) 1,2 and 4

(c) 1,3 and 4

(d) 2and 3 only

. Leﬁ atrial dilatation on X-ray chest

is characterised by whlch of the
following ?

1. Straight left heart border
" 2. Rounding of left heart border

9.

" 10.

3. Double cardiac shadow
4. Widening of the angle of 'caﬁna |

Select the correct answer using the
code given below :

(@ 1 and 3 only

(b) 1,2and 4
© 1,3 and 4
@ ‘2, 3 and 4

A 30 year. old male is bemg evaluated

for shortness of breath. On examina-

tion of the jugular venous pulse (JVP), |

there is a rise in the JVP on inspiration.
Which one of the followmg is most
hkely diagnosis ?

(a) Constrictive pencérdjtis |

(b) Atrial septal-'defec’t

(é) Aortic mgaxrgimﬁon

(d) Severe mitral stenosis

A 24 year old man presents ﬁ& acut_e"
onset shortness “of breath with pre-

cordial chest pain. ECG reveals ST
elevation with upward .concavity and

PR segment depression in lead V, to

Vs and reciprocal changes in lead

aVR. The most likely diagnosis is

(2) Aanterior wall inyocar_dial ‘infarc-
tion

- (b) Acute pericarditis

() Anterior wail aneurysm
(d) Aortic I.disse’ction '

‘A - GHTR-U-JUY



11. Which of the. followmg are Controller 13 “Which:::of - the’ following ‘are. correct

Therapies in"the mmagement of adute - regarding» Idlopatlnc Pulrnonary Fibro-
asthma? A . osis?. SN
1. Antxcholmergcs o L Radlologxcal pattem of usual

mterstltlal pneumoma

2. Systemac lucocortrcolds
E 2. Fmger clubbmg

3 glucmmcmds 3 More commo:r m eldetly

4 : ”' "b | | Select the - correct ansvﬁer nsmg the'_
~_Select. the correct answer using the. .code given below : o
codeglvenbelow . S @) land20n13' :
(a) l 2and3 R (b) 2and3‘von1y,“’-‘"" :
(b) L,2ad4 - () 1and 3 only
@1 3and4" @ 1,2and 3
(d) 2 3 and 4 14. Dlagnostlc work—up for a case of
P o o suspected Bronchial - asthma should
12. Low pleura} fluid glucose (< 60 mg%) reveal which of the followmg abnor-
may ‘be 6bserved in whrch of the malities ? ’
followmg? )

* 1. Reduced FE’V;/FVC ‘

1. Pyogenic pleural effuslon - '
2 Increased ﬁmctlonal residual

2. Rheumatoxd plpentls ' o R volume . B

3 Mahgnant pleural eﬁ‘usron _ o .3 Reduced dlﬂ‘usron capacrty _
I 4IncrementhEVlmresponseto'

4 Hepatlc hydrothorax R | led bronchod;

“Select the correct answer usmg the Select the correct a_nswer usmg the:

code given below . ... . - code glven below
@) lZand3 e (a),172and3 R
(b) land2on1y 0 " o o ®) 1, 2and4 Yo
© 5 3and4 RO o | © 1and4only 5
@ 2 3and4 | @ 2,3md4

GHTR-U —JUY-—A_ : 4



’ .15 thh ‘of wthq folloWlng conditions

pmdm m'ﬁbﬁ&mﬁw sleep apnea ?
L Hyperthyroldlsm
N 2. Aaomegaly
3 Obesity ..« #. .
4. Use of‘alébiwm

. Select the: cmct answer \mmg the
oodeglvcn below: - i

(@ 2 and 3 only - -
(b) 1,2'and4 |
© 13 and 4 ek |

@ 2.3‘@__4 e

Wlth regird to acute fatty ‘liver of
 preguancy 7 . a

lltnstypﬁcaﬂypremtmﬁrst_“

Inmester ‘

2. It is more oommon m mulnple

. pregnancies |
3. Liver biopsy-s rarely neéded
4 Deﬁw}y" of fetus is indicated

Seleetthecorrectanswerusmgthe

codeglvenbelow
(@ 1, Z'and-3 ‘

®) 1,2and 4 |
() laﬁd 4'oﬂ1y o
@ 23md4

AT A

" 2. Increased white blood cell count

"ofthe'thllowmgarecorrect‘_

17. Which.one of the followmg “are

“markers of ‘poor prognosis in - acute
pancreatitis ?

1. Elderly. individual

3. Low serum calciim
4 Hypercarbla SRR

Select” the - correct answer usmg the
code given below:

@ 1, 2~-and'3 ' ,

® 1,2and4 |
et

© 1,3and4

@ 2,3ad4

18 Whnch of the followmg are the

common emses ofacutz pancreautxs?
1. Gallstone '

: ’2.7Alcohol‘ - “

3. PosttERCP . RN
4. Canipylobacter jejuni

Select . the. correct answer using the

) code gwen below :

(a) 12and3
(b) l 2and4
(c) 1-3and4

(d) 2 3and4

A~GHTRUJUY )



19. Which of the following are the
actiologies of haemochromatosis ?.

1. Thalassaemia |

2. Anaemla of pyruvate kmase
deﬁclency

3. Chronic cor pulmonale

4i Porphyria cutanea tard'a

Select the . correct answer usmg the’

~ code given below :
(@ 1,2and3

®) 1,2 and 4

_(c) l'and 4 only
@ 2,3 and4
20. Which of ‘the'v fcllowmg .drugs are
1mphcated in peptic ulcer disease, not

caused . by Helicobacter pylorl and
NSAIDs ?

1. Clopidogrel
2. ’G,lucocct_;'ticéids
3 Bisphocphcpates
| 4. Colloidﬁl biéihuth 'subcitrate

Select the correct cnswer usmg the

code given belcw
(a) 1,2 and 3

() 1 and anly
,(c).-l',,3cn;d4_, |
(d) 2 and 4 only

GHTR-U-JUY - A

21.

Which of the following aref'symptOms

of irritable bowel syndrome ? ~

1. Gas and flatulence
2. Abdominal pain-
3. Blood in stools

4. Diarthoea ~©

Select the correct- an_swér using the

codc glven below :

_220 :

(a). 1,2 and 3
(b) | 1,2and 4
() 1,3 and 4
d) 2,3 and 4

Vertical transmission of hepatitis B

can be prevented by which of the

following interventions ?

1. Passive immunisation of infant at

birth | -

2. Actlve nmnumsatwn of mfant at s

birth |
3. Antiviral therapy in third trimester

for mother with HBV-DNA level 4

of>200000IU/mL

Select the correct answer usmg the

code given below

| (a) 1 and 2 only

(®) 2 and 3 only

(© 1 and 3 only



£ 5

i

23. Which of the ‘fb}lowin_g?'are‘ correct in-
' respect of jaundice 2" '

1. Patients complain of darkening of

~ urine before they notlce Jaundlce

2. Jaundice is usually detectable with

a serum- bilinibin ‘level of over
18mg/dl

3k Gzlbert syndmme, jaundlce is
e menohceable aﬁer fasting

Selectﬂle&onectat_xswerusmgthe‘

code glven below :

<(a) 1 and 2 only\,

(®) 2and 3 only
© land3only

. _@a L2wds |

24, Imtable bowel syndrome is favoured
- by which of the follewmg ?

1. Worsemng of symptoms by stress

_ 2 Recurrent abdommal dlscomfort

A

3. Age more than 50 years at onset

4. Altematmg diarthoea and consti-

paﬁoﬂ\

" Select the- correct answer usmg the

- code given below :
@ 12and3‘
(b) 1,2 and 4
(©) 1,3 and 4
@ 2,53@;14 -

25.

(b) Fecal cleamnée bf alpha-1 anti-

The diagnosis of protein losing.

enteropathy can be confirmed by
(a) Hydrogen breath test

trypsin’

" (c) Fecal %'Cr labelled transthyretm

26.

. level ‘
@ Fecal calprotecﬁn lével '

'RBCcastsonunneanalyswareseenm |

. which of the followmg" °

1. Glomerulonephrms -
2. Intestitial nephntts

. 3. Vasculitis E

4. Mallgnant hypextensmn

Select the correct answer. usmg the -
| code given below : :

(a 1,2and3

®) 1,2and4 .

() L3and4
*(d) 2 and 3 only

- 27.

Which of the following are correct
regarding Essential Tremors ?

1. It may present at any age

2. Head is almost never involved

3. Tremor may nnprove with small

g amount of alcohol

Select the - correct answer usmg the
code given below : .

(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3-only
(d 1,2and3

A- GHI‘R-U-JUY



28. Which of the following drugs may be
a’ssociated‘with Parkinson’s disease ?

1. Atypical antl-psychotlc drugs
2 thhmm

3. MPTP (methyl-phenyl-tetrahydro-
pyridine) -

Select the correct answer using the
code glven below : ‘

(a) 1 and 2.only
(b) 2 and 3 only
() l'and 3 only

(d 1,2and3

29. Which of the following arg suggestxve

of Parkinson’s disease ?
1. Lead pipe rigidity
2. Cog wheel rigidity
'3. .Fesﬁnaﬁxig g.ait .
4. Romberg test positive

Select the correct answer using the
~ code glven below :

(a) l2and3
(b) land20nly
(©) land30n1y

@ 2,3 and 4

GHTRJUYA

30. Which of the following are correct

regarding - Idiopathic  Parkinson’s

‘disease ?

1. Motor symptoms are almost
~ always initially symmetrical
2, Non-motof symptonm include
hyposmia and constipation
3. Coghition is 'spared in early
_ disease o ' '
4. Speech may become softer and
~ indistinct
Select .the correct answer using the
code given below : ‘
(a)- 2 and 3 only

() 1 and 4 only

. (©) 1,3 and 4
(@ 2,3and 4

. Which of the following" are correct

with regard to Levodopa ?

1. It is most effective for relieving
tremors :

2. Only a small portion of total drug .
reaches the brain .

3. ‘Nausea may be offsct by dompen-
done .

4. It may trigger h‘allucinations-

Select the ,qbrfect answer using the-
code given below :

(@ 1,2and3

(b)) 2and4only

(c) 1 and 3 only

(d) 2,3 and 4



32. Which of the following are risk

factors for Stroke ?
1. Sickle cell disease =
2. Cigarette srnoking l.
3. Hypoﬁorinogenaemia. '_
4. Atrial fibrillation

Select the correct answer usmg the

: code glven below :
(3 land2only
®) L,2and4
© 1,3 and4

(d) 2 and 4 only

33. Whlch of the following are correct in

‘respect of Myasthema gravis? ~

1. Symptoms 'worsen towards the
end of the day

2. There. may, be . difficulty in
" chewing and swallowing

3. Acetylcholine receptors in the
~ pre-junctional membrane are
involved

4, Penicillamine may - precipitate
similar illness ‘ :

Select ‘the - correct answer usmg the
code given below : -

(@ 1,2and3
(®) 1,2 and 4
(© 1'and 3 only
(@ 2 and 4 only

34, Which of the following are the tests

for functional assessment of encepha-
lopathy ?

1. Flapping tremors
2. Number_connection test
3. Constructional apmxi‘a' -

Select the correct answer using the
code gwen below:

(@) 1and 2 only
() 2 and 3 only

() 1and 3 only

(@ 1,2and3

35, Which one of the following is correct
" regarding blood components in clinical

practice ?

(3) ABO blood group antigens are
_ polypeptide chains on the snrface
of RBCs

(b) Platelets can be stored for upto
35 days

"(¢) Hemolytic disease of newbomn

occurs when mother’s IgA anti
RBC antibodies cross the placenta
and lyse fetal RBCs

(d | Transfusion associated GVHD can

be prevented by prior irradiation
of transfused blood

. A-GHTR-U-JUY



36.

Which one Q£ the followmg is an oral

- .direct Thro:hbm mhlbltor ?.

(@) Apixaban

- 37.

(b) Rlvaroxaban
(c) Dablgatran

__(d) Argatroban

Whlch of the followmg are correct

~ with regard to metformm ?

38.

2, Lactlc acxdosxs

1 'I'he maxunum tolerated dose is
2000 mg/ day '

is the' major

adverse effect of metformin

3. It may Iower the ‘blood levels of.

© Vitamin® BlZ level
Select the correct anSwer usmg the

-code g;venbelow:__ S
(@ 1 and_2 only
(b) 2 and 3:only

() 1and 3 only

(@ 1,2 }md;; ‘

“Which of the fbllosving;statements are

~ correct regarding short stature ?

l Linear bone growth rates ar¢ -

pltmmry dependent

2 Normal bone’ age in a child. With
- short: stature suggests hormonal -

dxsorder RS

3. Final helght in 'boys can’ be'
 estimated by adding - 6:5 cm to

m1d~pamnta1 helght ’

lac ‘f‘_t therapy with' re-
combmant GH .restores
veloclty in GH-deﬁment chlldren

4

GHTRJUYA

growth_

10

- Select. the correct answet; usmg the

code given below ::

‘(a)\ 1 and 2 onl.y -
®) 1,2end4 .

_ (c)__l,’3and4“' '

39,

40.

differential . diagnosis

(d) 3and4only

Whlch one of ‘the following drugs
used fo treat ‘Diab_etes mellitus, is least
likely to cause hypoglycemia ?

(@ Insulin

®) Glitnepiride
(©) Sitagliptin |
() Repaglinide
Which of the - following - constitute
‘of  hypo-_
calcemla ? | '
1 Hypomagnesaemla e

2. Chrbnic alcoholism'.

3. Pseudohypopamfhyfoidisrn

4. Paget’s disease

‘ 'Sclect the correct answer using. the

cdde glven below :

(a) ! 2:and 3

(b) 1 and 2 only

" (©) 3 and 4 only ’-

@d 2,3 and 4



41.

Which of the following are useful

for the treatment of Hirsutism ?

1. Amiloride
3. Finasteride
4. Spironolactone

Select -the. correct answer using the

- "code given below:

. 42,

(b) 1,2 and 4

(c) 3 and 4 only -
e -2;3an‘d4} -

“Which of the followmg is a long

- acting insulin ?

(a) ASPart
(b) Glargine

(c) Lispro

() Regulzu'

A 15 year girl presents to the hoepitei
“with severe abdominal pain, vomiting

" and cold extremities. She has tachy-

' cardia and hypotension. Lab investiga-
tions show blood glucose 400 mg/dL,

blood pH 6-9, urine ketones ++ and -

serum creatinine of 1-4 mg/dL. She is
promptly. administered IV fluids and
insulin. After 4 hours, she complains of

inability to lift her limbs. What is the

- next step. .to be cons1dered in her

; management ?

/

1

(a) Intravenous normal saline

(b) Intravenous sodium bicarbonate-

| (c¢) Urine sample for ketones

()} Potaésium repletion

44. Composition of oral rehydratxon

solutlon (WHO) is .

(a) Na-90 m mol/L, K-20 m mol/L,
C1-80 m mol/L, Energy-54 kca/L - -

(b) Na-80 m mol/L; K-20 m mol/L,

C1-70 m mol/L, Energy-54 kca/L

. / )
- (¢) Na-90 m mol/L, K-40 m mol/L,

C-80 m mole, Energy-27 kca/L

- (d) Na-80 m mol/L, K-20 mi mol/L,
Cl—70 mmol/L, Eneigy—54 kea/L

. 45. Which of the following - are correc_t .

regarding tuberculous meningitis ?

1. Acid-Fast Bac1111 are mfrequently :
seen on direct smear of- CSF

2. CSF culture for MTB is the gold |

standard for diagnosis

3 Xpert - MTB/RIF assay is a
preferred initial dlagnostlc optlon :

~Select the correct answer using the

code given below :
(@) 1and 2 only
(b) -2 and 3 only

(c) -1 and 3 only.

d 1,2and3

' A-GHIRU-JUY



46. Which -one of the followmg 'is a

subcutaneous preparation useful for
- treatment of osteoporosis ?- -

(2) Denosumab |
(®) Alendronate . .
'(é)‘ ‘Zoledmnic acid
(d) Raloxlfene o

47. Which: of the followmg are correct

wrthﬂegard"‘to os&oporosxs ?

1. It does not cause symptoms until

a fracture occurs \

_'2.'Vertebral fractme can present -

~ with -loss. of helght, in absence
~of pain_

: ;3;1‘,.Smohng 1s protectlve
4. It sometlmes presents mcndentally
" as radmloglcal osteopema

Select the correct answer usmg the .

code glven below
(a) l 2and3 N
(b) l, 2and4
' © 1,3and4

| (d)'.2f3and4. |
48. Which . of the follomng ar¢. correct
with regard to Ankylosmg spondylms ?

L Bamboo spme maybeseen
. “2 Earlymomingbackpamlsmre

3. Uvems ls ‘most _common extra

4 Itnsmorecommonmmales ',

GHTRU J‘UY»—'A
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-+ _Select the. cortect’ answer rusmg the |
. code given below ‘

-(a) 1 2and3

49,

(b).l,2and4';"
© L,3and4
@ 23mds

Carpel Tunnel Synm 181 assocxated
wnth which of the. foﬂomng features ?

1. Pamandtinglingm’hamfsatmght

2. Weakness of thumb abducﬁbn

3, Loss of sensanon over lateral half
of the palm - :

4. Atrophy of hypothenar eminence::

Select the correct answer: usmg the
code glven below :

@® 1,2and3 .
M) 1, 2'_1‘md4e

© 1, 3and 4

- (d) 2, 3and4

f(a) L2wds

thch of the followmg can: be used to
monitor disease activity m rheumatond '

arthritis ?

1. Pain (visual onalogue’ scale) '.

: 2 X-Rayofhandsandwnsts

3. DASZSscore
4. ESR B

Select the ‘correct: answer usmg the
code given below -

M, 0y,

(_é) ; 1,' _3,‘apd 4
@ 2,3and4



- 51, Which one . of tbe fellowmg HIV

assoctated infections - is- least likely
_ with CD4 count > 100 cells/mm3 ?

(@) Cerebral toxoplasmosxs A

®) Tuberculosis - -

 (c). Herpes zoster Lo
(d) Pneumocystxs movﬁen pneumoma

52. Tests for graphesthesxa and stereogno,-

- gis are used chmoally, to’assess
(a) thcal seusaﬂon e
) Postenor column

© Cerebellar funcuon -
(d) Lateral spmothalamxc tract

53. A blast vmtim is Brought to the

~ emergency. Victim is ‘unconscious. BP
is 80/50 mm Hgl,Pulge 'is 110 per
mlmxtcandmeadyandSpOz is 70%.

Victlmhas rapid shailow breathing and'

(a) Corrosive substance poisoning
(b) Aluminium pllosphide poisoning

'(c) Zinc phosphide poisoning

55.

A you‘ﬁg female of 22 _year old
presented to - the medical: emergency
with complaints of nausea, voxmtmg,

globulmemm What is the llkely dmg
nosis ? 7' 3

| @ AIumlmum phosphldepoxsomng

() Zinc. phosphxde poisoning
- (e) Copper sulphate poasomng
; ,(d) Leadpoasomng :

signs of external blood loss are present. -

JVP is raised and . heart sounds are
absent on auscultatmn. Which one of
“the following is the next single most
immediate step in-.the management,
. after. sécuring alrway,breathmg and
« . circulation ? :

" (a) Chest X-ray PA and lateral view

~(b) Urgent needle ﬂlroacosmmy

o @) Urgent pencardnocetitcﬁxs : |
. f(d) Blood for cioss mtch followed :

by blood trnnsfumon

4. A21yearyoungfemalewasbroughtto

 ‘Emergency Dep ‘,”Wlthlnstoryof
‘unknown substance mgestlon She was
~ having vommng, profuse diarrhoea,
bronchonhoea and excessive sweating.
e m:s and muscular

13

Which of the followmg are -the
components of the 'SOFA (Sequennal
Organ Failure Assesstmnt) ?

1. Serum blhrubm

2. Platelet connt

3Leuococyhecount

o 4 SerumCreatmme

| Select the com)ct answer usmg the“*

- code given below -

(@ 1,2and3

() 1,2and 4

(@ L3and4

(d) 2,3 and 4

A GﬂTRs-U-JUY:

SRR



57

Purtscher S ret;nopathy may be asso-

- ciated w:tli

(a) Acute fulminant hepatic failure
®) Acute ‘pancreatitis
(c) ‘Acute peritonitis

(d) Acute cholecystitis

Which of the following may constitute
the characteristic triad of Zollmger-

Elllson Syndrome ?
1. Severe peptlc ulceration
2. Gastnc acld hyposecretlon |
3. Gastrmoma

' 4 Pancreatlc Neuro-endocrme

tumour

Select the correct answer using the

code given below :

(@ 1and 3 only

(b) 2,3and 4
() 1,3and 4

@ 1,2and 4

59.

In a healthy young adult, what propor-

tion of sleep time is comprised Rapid

Eye Movement (REM) sleep ?
@ 5-10%

() 2025% - -

(©) 45-50%
@ 70-75%

GHTR-U-JUY - A
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61. .

"60. Which of the following drugs can
“cause Idiopathic Imracmmal Hyper-

tensxon ?.

- 1. Tetracycline -
2. Retinoid

3. Vitamin A
4. Sulfonamides

Select the correct . answer - using the
code given below '

(@) 1,2 and 3

® 2 3and4
() 1,3and 4
@ 1,2and4f :

As per the Gell and Coombs class1-
ﬁcatlon, Farmer’s lung is whlch type

_of hypersensmvxty disease ?

62.

@ Typel

(b) Type-II
(c) Type-ll
@ Type-IV

Hormonal regulation of salt and water
balance in a nephron occurs at

‘(a) Proximal Convoluted Tubule

(PCT)

(b) Loop of Henle

() Distal Convoluted Tubule (DCT)
(@ Collecting Ducts



Whmh one of the followmg parameters 66. Which corhponént of ,'auto-tog(ﬂation |
suggests pte-renal azotemia ? o of glomerular filtration acts on "the

' efferent arteriole ?
(a) Renal tubular eplthehal cell casts ‘
(b) Gmmuiar casts m unne sedunent

- (a) Autonomous myogenic reflex
- (b) Tubuloglomerular feedback

' ‘(c) Hyalme castsmunnesedlment o ©) An gmtensm II me dlated vaso-
© (d) Fractional excretion of sodmm' S constriction -
>1% S '(d) None of the above’
64. Most ‘common ! cause of Chromc - 6. Whlch of the following. are conse—_ ,
Kldney Dnsease (CKD) is - - quences of nephrottc syndrome ? |
(a) Hypertension associated CKD .. 1. Increased lipoprotein synthesis

(b) Autosomal Dominant’ Polycystlc' 2. Low serum globuilin levels

Kidney Disease (ADPKD) S 3. Increased serum aldosterone levels *
(c) Diabetic nephropathy o : 4, {ncr:ased serum Antithrombin Il
7 evels

) Gi lonephriti
| ( ) Glomeru 01159 s Seléct the COrrect answer using_the

' code given below :
65, Whlch of the followmg statements i glv; c
regarding~ contrast mduced nephro- @ 1,2and3 -
- toxicity are correct ? : " (b) 1,2 and4
1. Diabetes' Melhtus is a risk factor @], 3' and 4
2. N-acetylcysteme can fully teverse . (d) 2 and 3 Only R .
. the renal m]ury _
‘ . - 68. Slckle cell syndmmes are caused
3. Hydmtlon 1s necessary ' by a mutation in the B-globin gene.
. - ~ Which one of the folldwmg correctly
- 4, gcmlt Metformm if nephrotomclty : : descnbes the change 0 - :
. occurs. - R
lSelect e correct using: the .(a) Sixth .amino acid-glutamic acld is.
answer laced by vali
[ codeglvenbelow : TP y vaine.
: . R ()] 'I’wenty-snxth amirio acxd-glutamxc
(@ 1,2and 3 _ - acid is replaced by lysine.
® 1,2and4 (c) Sixth amino acid-glutamic acid is
- ' o -~ . replaced by lysine
(c) 2,3 and 4 P yshe o
e (d) Ninety eighth amino acnd-vahne'ls"

: @ 1, 33“‘14 SRR '} o replaced by methionine. -

15 | ~ 'A-GHIR-U-JUY




' 69. In whlch ‘of the followmg a high

retlculocyte productlon index is seen ?

1. Sickle cell disease |

2. Vitamin B-12 deficieficy

3. Glucbse-6-pﬁosphate» ‘dehydro- -

- genase deficiency -
4, Blobd loss

Select the correct answer usmg ‘the
code gwen below '

@ 1,2 wd3
® ,2and4
© 1, 3 and 4
(d) 2,3 and 4
70. Which one of the followmg combma-

tions of drugs can be used for treat-
ment of relapsed myeloma ?

'(a) Infliximab, Methotrexate Dexa— - |

methasone

®) Lenahdormde, Bortezomlb Dexa-

' methasone

() 'thuxxmab V'mcrlstme, Cytar’a’-
: bine _

(d) 'Methotrexate, Doxorublcm Pred-

nisone . -

71. Which of the following can be used
in the initial management of heparin

.mduced thrombocytopenia ?

GHTR-U-JUY - A
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72.

l.]Fendéparinux, :
2. Riyamxab'an

3 Lepirudin _' |
4. Warfarin

Select the correct answer usmg the
code given below

@ 1,2 and 3'
®) ‘1, 2 and 4

() 1,3and 4

'(d 2,3and 4

Red cell protoporphyrm levels will -
be jraised in which of the followmg

' condmons ? .

l. AbSOIute iron deficiency

b

2. 4Rela'tive iron deﬁciehcy -

3. Lead poisoriing

‘Select the correct answer using the

code given below :

_(a) 1 and 3 only..
(b) 1 and 2 only

() 2 ;md 3 only

@ 1,2and3"



73. Negative Tron Balance is the first stage
. in the progressxon to Iron Deficiency

Anaemia. Which of the following

laboratory investigations will be found

deranged in this stage, thereby pointing

~ to early iron-store depletion ?

1. Bone Marrow Iron Stores

2. Percent transferrit'l‘satm,'at'ion ‘
3. Serum feritin

4. Total Tron Binding Capacity

Select th_e ‘correct answer using the
code given below :

@@ 1,2 and 3

" (b) 1,2 and 4

() 1,3and 4

() 2,3and 4

74.

Which of the following drugs camy a

definite risk of causing clinical

- haemolysis in persons suffering from

Glucose-6 phosphate  dehydrogenase
deficiency ? -

L. l_‘rinidquin’e

2. Dapsone .

3. Cotrimoxazole: .
4. Nitrofurantoin

Select the correct answer .using the
code given below :

(@ 1,3and 4

(b) 1and 2 only

(¢) 2,3 and 4 only
(d) 1,2,3and 4

78.

A 40 year old male presented with
complaints of generalised weakness,
weight loss, abdominal discomfort and
decreased appetite. On examination

- Splenomegaly (massive) was present.

76.

On investigation it was found that
haemoglobin was 7-0 g/dL, platelet
count— 8 lakh per cubic mm, WBC- -
90000 per cubic mm. Most probably
this is the case of

(a) Chronic lymphocytic leukemia

(b) Chronic myeloid leukemia

(©) Acute lymphoblastic leukemia

(d) Acute myeloid leukemia

Which of the following are risk factors
for type 2 diabetes mellitus ?

1. Family_ hxstory of diabetes
2. Underwei_ght |
3. Physical inactivity

4. Polycystic ovary syndrome

- Select the correct answer using the

code given below :
@ 1,2and 3
(b) 1,2and4

© 1,3and 4

(@ 2,3and4

17
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‘77. Which of tbe following statements

‘with regard: to gestational - diabetes
mellitus (GDM) are correct ? .

_ 1. Most women revert to normal

glucose toleranoe _post partum

2 Children bom toa GDM. mother
have no increased risk of diabetes
mellitus 'later"in life -

3 Glucose | mtolerance " develops
durtng seeond and thlrd mmesters

4. Insuim resxstance is - related to
' metabohc changes of pregnancy

. ~Select the @Bniect answer usmg the
'code  given below ) :

' ‘1
f(a) 12and\3"

® 1 2and4,.‘
(c) 1, 3and47-

(d) 2,3 atld4.vb .

“78. A Thyroid Function ’I‘est report shows- "

: the followmg results :

'\TSH-Undetecta'ble’ :
- T3-Raised .
T4-Raised

" 'Which one of the followmg w111 be the

- most likely interpretation on the basis
of the above report? o

(@) Hypothyrmdism

seeondary - to
' prtultary dlsease o

(©) anary thyrotoxwosrs

t(d) OVertreatment of hypothyrordlsm

w1th Lmthyromne

-GHTR-U-JUY - A

) Transtent thyrordxtls in evolutxon
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79 Wlm;h of the followmg bxochermcal,

_ ‘abnonnahty 1i$ seen in severe hyper-
, tnglycendemra? '

| '(a) Psuedohyponatrenna
| '(b) Metabohc alkalosrs ‘
(© AAHchnna o

() Hyp__erkaler_ni’a:'

80. 'Whrch of “the followmg statements

are correct about. treatment wrth vitD

supplement ?

1 Serum calcium levels nnprove‘

 earlier than serurn PTH levels i

" 2. Patients -shquldv bo closely
observed with serial vitamin. D

levels in blood as vitamin D -

o tox1c1ty occurs ﬁ'eQuently
- 3. Vitamin D supplementatlon should

- always- be in conjunction with
.calcrum supplementatlon

4. Nephrolithiasis 1s a known com-
T phcatlon

'Select the correct answer usmg the
code glven below :

(a) 1’ 2 and 3 - ,‘“-_ v
© 1, 3:“‘3“& 4

d) 2,3and 4"

T



81.

82.

nostic evaluation of patients with
hypercalcemia is _

(a) 24 hour urinary'calcil‘lm excretion
(b) Serum phosphate levels

(c) Serum i PTH levels

(d) Serum vitamin D levels

Consider the following conditions :
1. Kaposi’é sarcoma. | )
2. Lymphoma
3. Tuberculosis

_ 4. Persistent genefalised‘

lymvha-
- denopathy ‘

Which of the above are causes of

: lymphadenopathy in a HIV posmve

patient ? .

(@ land3only. 'A;
(b) 2 and 3.only‘ cL
© 1,2and4only

@ 1,2,3and4

. A patient recelvmg chemotherapy

develops neutropenia. He presents with
fever, cough, expect_oratlon chest pain

and hemoptysis. His CT scan of chest'

The first: line. investigation for diag-" |

reveals nodular mﬁltratcs with halo .

sign and crescent sign. The most useful
drug for treating him is -

(a) Colistin

(b) Granulocyte Macrophage Colony

(é) Voriconazole

(d) Piperacillin-tazobactam

19

84.

8S.

A patient undergoes splemectomy
after an accident. He will require oral
prophylaxis against which of the
following organisms ?

(@) Staphylococcus aureus

() .Esch‘eriéhia coli
(c) Strépt_ococcus pneumoniae
(d) Pneumocystis corinii

A 30 year old male recently diagnosed
with HIV presented with odynophagia.

- He was started on proton-pump

inhibitor and an upper GI endoscopy

. was done. There were serpiginous .

ulcers in a normal surrounding mucosa
in distal esophagus. ‘The most hkely

- diagnosis.is -

(a) Herpus snnplex esophagitis
(b) Gastro-esophageal reﬂux dlsease
(c) Cytomegaloyirus esophagitis

~ (d) Candida esophagitis

Which one of the following statements -

regarding post gonococcal urethritis -

(PGU) is correct ? -

(a) Neisseria gonon'hoea‘ is the most
frequent cause of PGU in men

PGU refers to non;gonococcal
urethritis in’ men treated earlier-
- with sirigle dose of penicillin

®)

Combination therapy with azithro-
mycin leads to resistance and
should be avoided.
(d) PGU usually occurs within one
- week after treatment of non-gono-
coccal urethritis. :

(é)

A - GHTR-U-JUY



87, Whlchoneofthgfollomngu'eatments . wmnhemefoumagf atemeants are
“is considered as Gold smndard for = comctmtemetafvxml)?

;;hrueellosxs in adults?, . 1. Skin exposure to. sunhght is the

(a) Streptomycin and Doxycychne - ~ main source |
i cm and leampln R 2. Deficiency of vmunn min D' caus€s
:~(c) Tnmethopnm and Sulfmnethoxa— ‘ distal muscle Weahms o
- zole - "3, Vitamin nyp_h da@reases in
(d) Amikacm and Cnproﬂoxacm ' winter, as oﬂe moves away from
' W |
88. Which. ongofthe fdlowmg has' the . 4 Body store mm durlng'
’ hlghcst, r;d:, of . human immuno- ~ summer '1s
deﬁclencyﬂ;v:ms (HIV) transmission S wmter ,
.singl . exposure to an HIV- .
mfectedﬁom'ce? o : Select the correct’ answer usmg the
codengen below o
(a) Va‘m dehve!y S
' 1, d3
(b) Vagmalmtercomse (al | 2fan. S :
() Blood tmnsfusxon ) - ® 12 and 4 e
(d) Percu&lﬁé’ons.needle stick injury - © L3and4"
- @ 2,3and 4
89. Constderthefﬁﬂ‘owmgstatementswnth | S
resmdtovimminc o " 91. Which of the followi g are-used in the
1. It is heat stable o ~ ' treatment of Acne vulgms o
2. Normal platelets are poor in + 1. Topical benzoyl pemmde
o asoorbate. 2. Topical- annbxotlcs lxke clmda
= 3 Penfolhcular hyperkmtosxs is a © mycin \ S
) clmlcals1gnofscunry _ : 3, Oraliso 'oin ~{/- N
4. Infants fed excluswely on bonled v _
e mllkarevttannnCdeﬁcnent 4 Oralweﬂnectm |
Which of the above statements are " Select the correct answef usmg the
correct? S | ~ _code given below. S
@ land2 -~ - . @L2ad3 o
® 2amd3 | . ® L2and4 -
© land# " | © L3ad4 -
S (@ 3and4 o ) 2,3and4

GHTR-U JIJY A L 20
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‘92

%

94,

Which one of the: fanownrgms a‘cause
of scarmg' dldpec:a?

(a) Andmgcmc a10pecia
(b) AlopeclaAreata ..';\‘,.J

* (c)* Syphitis i
(d) Rndlomeﬁpy ;,

‘Which of the followmg are used as

-mood - stabilizers : wéaﬁnentof_w

fbnpolardkﬁder? e
1 Valptmc acxd ’ .l
3. Carbam:zepme

- 4, Propmnolol R

‘Select the conect answer usmg the
. code given’ below

@ L,2md3
(b)l2and4
(c) 133nd4
(@ﬂSmdA

An elderly alcohohc man who .mainly

cats a diet ofmanzeangmtae products

tension on exposedparts and acute

. delirium. He is a

‘ Whatlsth_e

N hkely diagnosis and its 'ﬁ'eatment ?

(a) Celiac dlsease Gluten free. dnet |
(b) Vitamm B12 deﬁclency, Paren
- teral B 12 thuapy‘ :

(c) Pellagra, Nnacm thempy

(d) Whnpple s d:sease, Doxycychne +

95. Whnchoneofmeﬁ:llowmg 1sanmd1-

(c) Pheochmmocytoma
(d) Oomplete heart block

96. Which of. the following statements

with regard to arterio-venous fistula in

. dialy,siSpaﬁcht]are‘comct?
1 Distension - and thxckenmg of

- vesselwalloeeurs

N

:scontemplamd |

4Synthet|cgmﬁmaybeused1f_

ﬁstulafomlauonnsmtposslble

Selectthecmctanswernsmsthe_

code glven below
(a) 1,2 and- 3
(b) 1,2 and 4

(c) 1,3and 4

(@ 2,3 a0d4

Formeduptoayearbefo:ednlysus .



97.

An' infant was bom at 30.. weeks of
gestation and weighs 1-2 kg at birth.

- Which: of the-following-is the recom-

mended initial feeding method ?
(a) Intravenous fluids only

~ (b) Feeding by spcon and katori

98.

(c) Bicastfeediﬁg
@ Orogastnc feedmg
A newborn delivered at 32 weeks

gestation is started on. spoon feeds
after birth. On feeding with spoon, the

~ baby demonstrates some spilling - and
* coughing. What is the next step in

management ?

(a) Oragastric or nasogastnc tube

~ feeding

~ (b) Intravenous ﬂuld therapy -

(c) Gastrostomy tube feeding
@ Bmasﬁ'eedmg

. A child speaks bisyllables like Ma-Ma

~ and Ba-Ba. He is able to sit without
support, and looks at the source of .

sound diagonally. His likely age is
(@ 4 months

(b) 6 months

(c) 8 months

(d) 10 months

1000

After sustammg a head injury, an ’

18 month old child displays eye

‘opening only to pain, moans on

painful. stimuli and withdraws to
painful stimuli. What is the- modified
Glasgow Coma Scale Score in - this
child? .

GHTR-U-JUY - A
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g '(a) 6
® 8

(c) 10

(@ 12

101. Which of the following are reversible

causes of - electromechanical disso-
ciation seen in pulseless electrical
actmty"' :

1. Pcncardnal tamponade

2. Pulmonmy thmmbo-embohsm
3. Hyperthenma

4, Hypokalemia

. Select the correct answer usmg the

code given below
(8 1,2and3
() 1, 2 and 4
() 1,3and 4
(d) 2,3 and 4

102. A 3-day old newborn presents with

jaundice since birth. Examination
reveals pallor and hepatosplenomegaly.

' The newborn also has a cephalhema-

toma. Which one of the following is
the most important indicator to the
dlagnos1s of pathologlc Jaundlce ?

(a) Pallor | _

10! HepatOSplenomesaly

() ‘Chmca_l Jaundlce since birth
(d) Cephalhematoma
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103 What is ‘the dlagnosm ‘of - Autism

Spectrum Disorder pnmanly based
upon?

(@) Clinical criteria.only's

(b) Clinical criterid . and genetlc
| studles only '

- @ 'Chmcal éntena and MRI “brain

- only

@ AChmcal criterid, gemetic. studies

andMRIbram R

104. Accordmg to. the Natlonal AIDS
Control Program, wlnch one of the

following drugs is -given fo newborns
bom to HIV-posmve mothers to

prevent motheér’ to chiid- tmnsnnssmn'.

of HIV. mfectlon? |
(a) Nevxraplne
(b) Stavudme

(c) .Indinavir

f @ ‘Ritonavir

105S. Which one- -of the followmg statements-
" is correct in context of human breast
ml]k? ». ! ‘ LN

(a) The. concenﬂanon of lactose is
Sg/dL.

(b) The protein content is higher than

that in animal m;llk

(c)- Human milk does 'not ‘contain
taurine. and cysteine like animal
milk and fdrmula- milk

B (d). Human milk contains omega 2 .
' and otnega 6 (very long cham) -

.fattyaexds

4.

.23

" Select: the correct answer using the’

. 106. Which of the folloWing ‘are age

appropriate. language milestones in a

normally developmg 2 year old child ?
_ 1. Vocabulary of 50—100 words |

2 Uses pronouns . o

3. Qcc‘asion,al repeating of words |

4. Statig his name when asked

- code given below :

107,
for developmental screening ?

: Select 4he correct answer using the

(@ 1,2and 3
®) 1,2and4

(c) 1and 3 only

(d) 2,3 and 4

Whlch of the following tools are used

1. Denver-II

2, Ages and Stages Questlonnaxre

3, Parents Evaluatlon of Develop«.

mental Status

4. Bayley Scale _ for Infant and :

Toddler Development

- code given below

(8 1,2and3
() 1,2and 4"
(c) 1,3and4

@ 2,3and4




GHTR-U-JUY —A

108. According to King’s College critetia, -

which of the following are the
indicators for referring to liver trans-
plantation following acetammophen
tox1c1ty ?

1. Transaminase levels > 4000 IU/L .

2. Acdemia (Serum pH < 7-3) after
adequate fluid resuscitation

3 Coagulopathy (INR > 6)

4. Renal dysfunction (creatinine >

3-4 mg/dL)

Select the correet answer using the
code given below :

(@ 1,2and3
®) 1,2 and 4
(c) 1,3 and 4

d 2, 3and4‘

109. Which one of the folloWing statements

is correct about intra-dermal fractional
_ Inactivated Polio Vaccine (fIPV) with

respect to intramuscular (I/M)IPV ?

fIPV is one-tenth of the I/ M dose
of IPV
fIPV is one-ﬁfth of the I/M dose
of IPV

@
®)

(c) fIPV is. half of the I/M dose of

- IPV.

()
dose of IPV

fIPV is three-fourth of the I/M

.24

110,

@

111.

.

Which one of the following statements
is correct regardmg the ‘Government
of India program ‘Home-based care
of the young child’ ?

j.

(a) It was started ih- 20141 f |

(b) The grassroots health worker is
the Anganwadi worker .
(c) The grassroots health worker

makes 6 home visits

The infant is monitored from 3
~ months to 15 months of age

In a child with high anion gap meta-
bolic acidosis, poisoning with which
of the following may be suspected ?
(a) Iron

(b) Digoxin . -

(c) Rifaﬁlpicin

112,

()

,.(b)'
(c)

(d) Beta blockers
Which one -of the following is e '
“Danger Sign” for a newborn baby ?

Temperature between 36 0°C and
36-5°C ‘

Respiratory rate more.than 60/min
Heart rate of '120/min' |

Weight loss of 8% within first -
week of life- : :

t

)



113.

114.

The codes given below represent
speclﬁc type of permanent teeth :

1. Central and lateral incisors
2. Canines |
3. Premolars:

~ 4. Molars

The eruption of which of the following
combinations will be- close to
menarche in girls 7.

(a) 1 and2
(b) 2.and 3
(c) 3and 4
(d) 1and 4
Urinary alkalinisation “is used for

enhancing excretion of which of the
following pmsonmg? ’

" (a) -Phenobarbitone

(b) Alprazolam
(c) Phenytoin

(d) Lithium

115,

A 4 year old child is brought with

-a history . of ingestion of 1g of

paracetamol two hours back. What
should be the initial management ? -

~ (a) Induced vomiting

(b) Gastric lavage

() Oral N-acetyl cysteine
(d) Alkaline diuresis .

" 116.

25

117.

Antidote to reverse the muscarinic

effects of organophosphate toxicity is

(a) Pralidoxime aldoxime methiodide
(PAM)

(b) Atropine

() Adrenaline

()] 'N-_acetylcysteine

A 7 year old child is brought to the
emergency with seizures and drowsi-
ness. The child had been receiving
some drugs for fever for the past two
days. Child 'is found to be cyanosed

with an oxygen saturation of 40% and .

" unresponsive to oxygen therapy. Blood. -

gas analysis .reveals a normal PaO,.

~ Which drug intake may have caused

118.

" the above condition ?

(a) Chloroquine
(b) Amoxycillin-Clavulanic acid
© Pamcefambl
(d) Mefenaric acid
Autism Spectrum Disorder is charac-
terised by which of the following ? ?
1. Onset before 3 years of age

2. Impaired verbal - and gestural
communication
3. Stereotypic ~ and . restrictive

behavioural patterns
4, Taxjgential speech
Select the correct answer \ising the
code given below :
(@ 1,2and3

() 1,2and 4

() 1,3.and 4
(@ 2,3 and 4

A-GHTR-U-JUY



ll9 Whlch vaccmes are stored in thc top .

rack of the main refrigerator compart-
ment at temperature of 4-10°C?

(a) DPT, Hepatms B Measles, MMR
vaccmes

» ®) DPT, TT, Hepati,tié A vaccine
(c) BCG, DPT and Typhoid

(d) BCG, Measlés and MMR vaccines

GHTRJUYA
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< 120: Metitification of 4Ds’ is a key element

‘of which National 'Healtthrogramme ?.

‘r(a)' IMNCi (Integrated Management
of (C Childhood and Neonatal il-
ness)

(b) ICDS (IHtCBTated Child’ Develop- o
~ ment Scheme)

© RBSK (Rashtnya Bal SWasthya |
' Karyakram) o

(d ISsK (Janam Sl'nshu Suraksha
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